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I-1162
M.A. (Previous/Final) Examination, 2020

ECONOMICS

(Optional)

(Labour Economics)

Time Allowed : Three Hours

Maximum Marks : 100

Minimum Pass Marks : 36

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeÙes~ meYeer ØeMveeW kesâ Debkeâ meceeve

nQ~

Note : Attempt any five questions. All questions carry

equal marks.

Q. 1. efJeJeskeâerkeâjCe mes keäÙee DeefYeØeeÙe nw ? efJeJeskeâerkeâjCe kesâ iegCe-oes<eeW

keâer efJeJesÛevee keâerefpeÙes~

What is meant by Rationalisation ? Discuss the

merits and demerits of rationalisation.
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Q. 2. Yeejle ceW ßece-yeepeej keâer Øeke=âefle Deewj efJeMes<eleeDeeW keâe

DeeueesÛeveelcekeâ cetuÙeebkeâve keâerefpeÙes~

Give a critical appraisal of the nature and

characteristics of labour market in India.

Q. 3. Yeejle ceW yesjespeieejer kesâ keâejCe, heefjCeece SJeb Fmes otj keâjves

kesâ GheeÙeeW hej ØekeâeMe [eefueÙes~

Throw light on the causes, effects and measures

to remove unemployment in India.

Q. 4. Yeejle ceW DeewÅeesefiekeâ ßeefcekeâeW keâer DeeefLe&keâ SJeb meeceeefpekeâ

efJeMes<eleeDeeW keâer meefJemleej JÙeeKÙee keâerefpeÙes~

Discuss the economic and social characteristics

of industrial labours in India.

Q. 5. je°̂erÙe cepeotjer veerefle hej efveyebOe efueefKeS~

Write an essay on the National wages policy.
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Q. 6. mebef#ehle efšhheCeer efueefKeS (keâesF& oes) :

(1) GefÛele cepeotjer

(2) ßece ienve lekeâveerkeâ

(3) yeesveme

Write short notes (any two) :

(1) Fair wages

(2) Labour intensive technique

(3) Bonus

Q. 7. DeewÅeesefiekeâ efJeJeeo mes Deehe keäÙee mecePeles nQ ? Fvekeâes kewâmes otj

efkeâÙee pee mekeâlee nw ?

What do you understand by industrial disputes ?

How can prevent these ?

Q. 8. cepeotjer efveOee&jCe kesâ Øeefleef‰le, veJe-Øeefleef‰le SJeb meewosyeepeer kesâ

efmeæevleeW keâer JÙeeKÙee keâerefpeÙes~

Explain the classical, nonclassical and bargaining

theories of wage determination.

Q. 9. meeceeefpekeâ megj#ee mes Deehe keäÙee mecePeles nQ ? Yeejle ceW

meeceeefpekeâ megj#ee kesâ efJekeâeme hej mebef#ehle efšhheCeer efueefKeÙes~

What do you understand by social security ?

Briefly comment upon the evolution of social

security in India.

Q. 10. Yeejle ceW ceefnuee ßeefcekeâeW keâer mecemÙeeDeeW keâer efJeJesÛevee keâerefpeÙes

SJeb Fmes otj keâjves kesâ GheeÙeeW keâes efueKeW~

Discuss the problems of women labours in India

and write its remedies to remove it.
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